AMEETAYHL T YRR—ILER

OF#&H: 20145% 10A 19H HEEH OH&E4: %38[E) —J Bk
O &RAIRFEZI:  11:00 = 15 FHEELHRS
ORSHTEX:  13:05 OXfE: Fh O : A
F—1% 1Q 2Q 3Q 4Q TOTAL B
fBEKXZ 13 14 41 48 18
BRek K2 0 7 0 0 7 18 4K
FafgiE
F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
fBEKXZ 1 9:57 run #2742 K 3 K #45— K NG
BE KX 1 10:59 run #81= & 3 K #45— K G
B KZF 2 2:15 pass #81= E —#88F B 27 K #45— K G
BmERKXE 2 7:51 run #2815 B 1 K #3388 A G
fBEXE 2 11:00 pass #81— E—#82{_ 3 12 K #45— K G
BEXE 3 0:23 pass #19F N —#81= 69 K #45— K G
fEEXE 4 1:26 pass #19F AN —#11th R 16 K #45— K G
F — L 4 f& R KF Bisk K=
1.97—ART oY E# (5> —/"R—KA|) 21(15— 6— 0) 4( 0— 1— 3)
28R AE-—R -5 —1TH 11—7—-2 22—7-0
gev—r | 177ves | a2vds
3TV E#—EFVY—F 41 — 276Yds 20 — 183Yds
4ME E% —EHVvY—F 52 — 453Yds 42 — 55Yds
5.5 8l E#H—EKvV—F 5 —  60Yds 3 — 10Yds
6.77>7IL B % —F X 2—-1 2—1
7.74—ILEI—)L B — B2 0—0 0—0
8. R— LT B B 24:39 23:21
9.3rd—down Conversion 2/5 011
10.4th—down Conversion 1.1 02




B ARCER B XF

IR ETA)H T ybR—)LERR

B A& RRIXZ)
o>
NO. Z21:01 [Bl%#% Yards TD &K F1§
6 FEF FEE T 20] 122] o] 20] 6.1
21 K K | 16] 142] 1] 26] 8.9
83 FHJR IE[F [ 2[ 10] o] 6] 5
81 —F £z [ 3[ 2 1 5] 0.7
® /X
NO. G=X:1] [E1$ FKIhZ—tYards TD &K T
81 —F £z I 7] 5] 1] 92 2] 47] 13
16 F A ZH [ 3[ 2] 1] 85 2[ 69] 28
NEZFESS [ 1f o] of o o 0
oL —T
NO. Z21:01 [Bl%#% Yards TD &K F1§
19 & /640 2] 51] o] 47] 26
88 FE BR 2| 29[ 1] 27] 15
82 IZH EIE 1 12 1] 12] 12
81—k FE2 1 69 1] 69] 69
11 R —# 1l 16] 1] 16] 16
® XvyrFo
NO. A Hl B2 Yards 1 2 3 4 5 10
19 B 50 [ 3[ 148] 55| 45| 48
82 =3 RIE | 3] 160 55| 49| 56
® />
NO. FHl B2 Yards 1 2 3 4 5 10
[ 82 1Z3 RIE [[ 2 87] 49] 38| |
QX v IAT)R—
NO. A Hl El#iYards TD 1 2 3 4 9 10
[ 19 B& B4 [ 2] 81] of 55 26]
@ /\h)R—
NO. A Hl El#Yards TD 1 2 3 4 9 10
19 B fB5N [ 2f 271 of 13] 14
45 —K & [ 1] 16] of 16




B AR _Bisk K2

AIMNBEET AYHTYRR—)LE

BR
i

B AR GRERKE)
o>
NO. 2] [Bl%#% Yards TD &K F1§
33K FA 2] 4] o] 2 2
28 BEE M= 11 10 1 3] 09
12 55@ EF 5] 1] o] 6] 02
24 1L)I| & 1| -4 o -4
11 {#& A 1 2] ol 2f 2
® /R
NO. E4:0] E# B A—tYards TD X FH
[ 12/%E@ FFE [ 22] 8] of 42] o] 18] 1.9]
oL —T
NO. 2] [Bl%#% Yards TD &K F1§
25 kR 1% [ 2f 3] o 4] 15
IBEES= [ 1 of o 0
28 BF m{= [ 1 1 of 1 1
31 B X [ 4 38] o] 18] 95
® Xyt
NO. CA:D] [B] %4 Yards 2 3 4 6 10
[ 3B3FXAA [ 2[ 120 60] 60]
® /\>F
NO. D] [B] %4 Yards 2 3 4 5 6 10
[ 33%FKFA T 7] 288 39] 35] 43] 38] 44] 62]
@FXv oA T7-)3—
NO. 4 Al El% Yards TD 1 2 5 9 10
25 KR & [ 5[ 78] of 13| 10f 12 35
31 B ¥X [ 1] 15] of 15
@ /\ k- )R—
NO. E4:0] Bl% Yards TD 1 2 3 5 9 10
[ 25 kxR 1% [ 17 3] of 3
® QBHY Y
NO. CA:D] [B] %4 Yards 2 3 4 6 10
[ 33%AK AA [ 1] el 6]
@ (1 A3—tThk
NO. E4:0] Bl% Yards TD 1 2 3 5 9 10
[ 33%FKFA I 2] 471 of 47 0]




